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	The car penetration loss in sector 7.4.3.2 is modelled with normal distribution N(μ, σP2), where μ = 9, and σP = 5. However, the value of car penetration loss is possible to end up with negative value added to the basic path loss based on this distribution. It is not reasonable for the O2I car penetration loss, although maybe only in some cases. Furthermore, according to the Report ITU-R M.2135, the car penetration loss is modeled with log-normal distribution LN(μ, σ2), where expectation μ = 9, and the standard deviation σ= 5[4], in which the car penetration loss is non-negative value.
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Text Proposal
< Unchanged parts are omitted >

[bookmark: _Toc485739734]7.4.3.2	O2I car penetration loss
The pathloss incorporating O2I car penetration loss is modelled as in the following:

	 PL = PLb +PLc, with PLc ~ LN(μ, σcp2)	(7.4-4)

where  is the basic outdoor path loss given in Subclause 7.4.1. The O2I car penetration loss PLc is log-normally distributed in the dB domain with the expectation μ = 9, and the standard deviation σcpσP = 5 given in dB. The car penetration loss shall be UT-specifically generated. Optionally, for metallized car windows, μ = 20 can be used. The O2I car penetration loss models are applicable for at least 0.6-60 GHz. 

< Unchanged parts are omitted >
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